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S = def
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Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

HILARE NA 10 5/6



u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

HILARE NA 10 5/6



u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

HILARE NA 10 5/6



u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

u,v,w € R” k€ R.

BB 1A ®1E  5/6



u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

u,v,w € R” k€ R.
(a) uev=veu

BB 1A ®1E  5/6



EF (—2 Y v KN)AM)

u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

u,v,w € R” k€ R.
(a) usv=veu
b)) (utv)ew=uew+vew

BB 1A ®1E  5/6



EF (—2 Y v KN)AM)

u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

u,v,w € R” k€ R.
(a) usv=veu
b) (utv)ew=uew+vew

(
(c) (ku)ev =k(uev)

BB 1A ®1E  5/6



EF (—2 Y v KN)AM)

u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

u,v,w € R” k€ R.

(a) uev=veu

b) (utv)ew=uew+vew

¢) (ku)ev =k(uev)

dyvev>0 FBHI < v=o0(¥u I}

BB 1A ®1E  5/6



u=(ug,...,u),v=(v1,...,00) ER" kER.
Uev:i=uvy+ - +uw, u&vd(L—2Yv R)HK

n=230D&EX, uev=|ul|||lv]| cos® THo7z. (Hp.123)

> B p.152 D1 ZHKEHATHL

EH 2(NMEOME)

)
) (ku) ev =k(uev)
d)vev>0 FHHI < v=o(¥H XZ7bINL)

> B p.153 D2 ZKEHATH L

BB 1A ®1E  5/6




EHE(2—2V v R) A, (2—=2Y v V) )

u=(ug,...,un),v=(vg,...,095) € R™.
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EHE(Z—2V Y R) VA, (=2 v R) HEE)

= (UL, ..y Up),V (U vp) € R™.
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